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QUESTION 1

Which of the following statements are true? (Choose two.)
A. Class A\'s friend\\'s friend is also a friend of class A

B. Friendship is inherited

C. A class may be a friend of many classes

D. A class may have many friends

Correct Answer: CD

QUESTION 2

What is the expected output of the following program?

#include <iostream>
using namespace std;

int maini()
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while (*p != 1)
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}

A. It prints: 432
B. It prints: 321
C. It prints: 4321
D. It prints: 3210

Correct Answer: B
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QUESTION 3



What happens when you attempt to compile and run the following code?
#include

using namespace std;

int min(int a, int b);

int main()

{

int min(int,int);

int b;

b = min(10,20);

cout
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